PART : CHEMISTRY)

SECTION - 1 : (Maximum Marks : 80)
Straight Objective Type (¥ JwfIs UHR)
This section contains 20 multiple choice questions. Each question has 4 choices (1), (2), (3) and (4) for its
answer, out of which Only One is correct.

9 @S H 20 g5l U €| 58S U & 4 fawe (1), (2), (3) 7o (4) €, o A e o wa 2

1. Which of these will produce the highest yield in Friedel Craft reaction ?
IS HIuC AMAHAT § 599 F DI AHIH Ie] < 2
CONH:2 NH:z Cl
OH
(1) @ () @ (3) @ (4)
Ans. (4)
Sol.  Aniline and phenol form complex with lewis acid so most reactive among the given compounds for Friedel

Craft reaction is chlrobenzene.

Sol. Uiferd e fheifdl IS o & W W@ 991 & | safer Q¥ T AT 7 A FARIGSIA Wisd HIUe
Iffhar & ufd rfdeds fhareier 8rm |

2. The correct order of heat of combustion for following alkadienes is :

1 Yoprersd @ foI g8 @) ST &1 Hel $HH B —

(1) (b) < (c) < (a) (2) (c) < (b) < (a) (3) (a) < (b) < (c) (4) (@) < (c) < (b)
Ans. (3)
Sol. In isomers of hydrocarbon heat of combustion depends upon their stabilities.

As the stability increases heat of combustion decreases.

Stability order /=/=/ s~ = TN

Sol. TESIPET ® FHAEI H 8T DI S ST RAMI@ R iR &=l 21
R 989 © 91, T8 B ST § HH BT B |

q@ﬂﬁaaﬂ;ﬁq /=/=/ >\=/=/>/=\=/

3. X" melts at low temperature and is a bad conductor of electricity in both liquid and solid state. X is :
(1) Carbon tetrachloride (2) Zinc sulphide (3) Silicon carbide (4) Mercury
X' 7 @m0 wR fUEerar @ e &9 997 S Q1 eIl W fAEd &1 HErdd | X B
(1) 1§49 cgraaRTss (2) Rid aewrgs (3) fafera= FElss (4) ADHA
Ans. (1)
Sol. CCls — Non-conductor in solid and liquid phase.
CCls — 31 A1 & Y=l H AT ¢ |




Ans.

Sol.

A chemist has 4 samples of artificial sweetener A,B, C and D. To identify these samples, he performed
certain experiments and noted the following observations :

(i) A and D both form blue-violet colour with ninhydrin.

(i) Lassaigne extract of C gives positive AgNOs test and negative Fes[Fe(CN)g]s test.

(iii) Lassaigne extract of B and D gives positive sodium nitroprusside test.

Based on these observations which option is correct ?

(1) A : Alitame ; B : Saccharin ; C : Aspartame; D : Sucralose

(2) A : Aspartame; B : Alitame ; C : Saccharin ; D : Sucralose

(3*) A : Aspartame; B : Saccharin ; C : Sucralose ; D : Alitame

(4) A : Saccharin ; B : Alitame ; C : Sucralose ; D : Aspartame

TP BRE & I S ARSI A,B, C T2 D &1 4 ufiset € | 39 gfiswl &1 vga+ & oy S99 @o m@m
f&a T Fon 91 Yeolt @1 Are fdar -

(i) Acen D a1 Feersfes & @ ier 9 <1 <9 2

(i) C @1 < |R&d (Lassaigne extract) AQNOs & 19 GaRIcAE a2l FesFe(CN)gls & 1 THRIHS
TRYeToT T B |

(iii) B @21 D &1 ORI AR&W QST AIRSIgHIss & A1 HRIAS TR <l & |

39 J&IUll & IMUR W B a1 AP Fal 87

(1) A: TefieH ; B : §a¢9 ; C : TeRed ; D : gabrair

(2) A : tEReH; B 1 Ueiied ; C 1 a3 5 D : gwrairst

(3") A : T=ReH; B 1 9% ; C : gwraile ; D @ GeiieH

(4) A : 3939 ; B 1 UeiieH ; C 1 ggpradiet 5 D 1 UeRed

(3)
0 ﬁ 0
HO—H—CHZ-(I'JH-C—NH—(I'JH-g-OCHg

A — Aspartame
NH, | CH,

| |© |
Aspartic acid

Phenylalanine methyl
ester part

part

C
B — Saccharine @E $NH
SO,

C — Sucralose

N

0 CH, c
— Alitame HO—C—CH;—CIJH—C—NH—CH—@—NH—CQ J
C

NH, VAN



(i) A & D give positive test with ninhydrin because both have free carboxylic and amine groups.
(if) C form precipitate with AgNOs in the lassaigne extract of the sugar because it has chlorine atoms.
(iii) B & D give positive test with sodium nitroprusside because both have sulphur atoms.

I P
HO—E)—CHZ—?H—C—NH—ICH—(ID—OCH3
N

Sol. A-TEréH
‘ H, | CH,

| |© |
Aspartic acid

Phenylalanine methyl
ester part

part

o} CH \C/
D - tfrew I I 3 / N\g
HO-C-CH~CH-C-NH-CH NH-CH /
I\IJH \/C\
HC  CH,

(i) A 3R D fFieIg$H & 91 G6RIGTS R0 <4 8, J@ife M 9 UCgs 949 9 W[ 2 |
(i) C wraxt & o fspd 7, AQNOs & 121 f@ey a1 2, Fifh $99 FARE WAV 8 2 |
(iii) B 3iR D \ifead AsgIgaIss & A1 GHRAS WU <1 8 | i M1 7 b IA17] 81 2 |

5. The electronic configurations of bivalent europium and trivalent cerium are :
(atomic number : Xe = 54, Ce = 58, Eu = 63)
(1) [Xe] 4f* and [Xe] 4f° (2) [Xe] 4f” and [Xe] 4f!
(3) [Xe] 4f” 6s? and [Xe] 4f2 6s? (4) [Xe] 4f? and [Xe] 41"

feaaee gRINga qon Bagee WiRaa & gaagifFe o= € -
(axHTY] Fe=T : Xe = 54, Ce = 58, Eu = 63)

(1) [Xe] 4f* qen [Xe] 4f° (2) [Xe] 4f" Ten [Xe] 4f!
() [Xe] 4f” 652 Tart [Xe] 4f2 652 (4) [Xe] 4f2 Tenm [Xe] 4f7
Ans. (2)

Sol.  Eu? :[Xe]4f’
Ce? : [Xe]4f!



6. Complex X of composition of Cr(H20)eCln has a spin only magnetic moment of 3.83 BM. It reacts with
AgNOs and shows geometrical isomerism. The [IUPAC nomenclature of X is :
(1) Dichloridotetraaqga chromium(lV) chloride dehydrate
(2) Hexaaqua chromium(lll)chloride
(3) Tetraaquadichlorido chromium(Ill) chloride dehydrate
(4) Tetraaquadichlorido chromium(IV) chloride dihydrate
Cr(H20)6Cla W & |aggar X &1 a1 713 &1 g amget 3.83 BM 2 | a8 AgNOs & @1y ifiifshar awan

2 3R sufda waeggar gefdfa #xar 21 X &1 IUPAC A4 @ -
(1) STsTARIgSICSIVFET HIFATH(IV) FARSS SEEESCT
(2) eFarvaEmmIETE(lll) TERES
(3) TeNHETsIsTRTgS! HIATHA(ll) FTRSS SEERST
(4) TTNFETSETERTsS! HIFTH(IV) TRISS SISEEST
Ans. (3)
Sol. Cr(H20)6Cln (LLcomplex)spin = 3.83 B.M.
From data of magnetic moment oxidation number of Cr should be +3
Hence complex is Cr(H20)eCls.

Complex shows geometrical isomerism therefore formula of complex is [Cr(H20)4Cl2]Cl-2H20.
It's IUPAC Name: Tetraaquadichloridochromium(lll) chloride dihydrate

Cr(H20)6Cln (s} = 3.83 B.M.
FEH MY B A A Cr BT GBI 31F +3 BFT A1 |

9 BR | Cr(H20)eCla & |

Hga A FHEIad] ST & | g9 @ga 31 A [Cr(H20)4Cl2]Cl-2H20 B |
ga®! IUPAC 9T cgIvdassaaRTssImIag (1ll) TaREs SEesse ¢ |

7. The major product Z obtained in the following reaction scheme is
=1 afdfshan @M 4 wTa 8N a1 = SR 28 ¢
NH2

NaNOz + HCl . CusBro ., HNOs |
273-278 K g " H2SO0s

Br

NO2

Br NO2
O2N
(1) 2) (3) Br Br (4) Br
Br Br Br NO2 N
(4)

Br
O2

Ans.
NH2 N2+Cl- Br Br

Sol. /@ (1) NaNO + HCI /@ (2) CuzBr2 (3)HNOs
Br Br Br Conc. H2SO4  Br:

NO2



8. The major product (Y) in the following reactions is :

=1 arfaferanell # 9= S (Y) ® -
(IJHs

HgSOs, H2SO i ,
HsC—CH—GC=CHs 9503, H2504 . X (i) C2HsMgBr, H20
HsO® (i) Conc. H2SO«/ A
(i)Ha (i)Ha (|3|H2 ?Ha
(1) CHs-CH-C=CH2  (2) CH3s—-C=C—-CHs (3) CHs—C—CI)H—CHs (4) CHs~CH-C=CH-CH3s
CH2—CHs CHe—CHs CHe—CHs Hs
Ans. (2)
T (1) EtMgBr/Eth QHs Q1 qHe
r/Ether H*/A
Sol.  HeC-CH—C-CHs ) HsOZ > CHs-CH—C-CH; —— CH3—C=CI:-CH3
CH2—CHs CH2—CHs
CHs O Hs OH CHs
Hootnil oy, () EMgBrrdor fHs Q HIA L o Lo on
Sol. (2) Ha0° CHa—CH—?—CHs > 5 —wrs
CH2—CHs CH2—CHs
9. B has a smaller first ionization enthalpy than Be. Consider the following statements :

(I) It is easier to remove 2p electron than 2s electron
(IT) 2p electron of B is more shielded from the nucleus by the inner core of electrons than the 2s electrons
of Be
(1) 2s electron has more penetration power than 2p electron
(IV) atomic radius of B is more than Be
(atomic number B = 5, Be = 4)
The correct statement are :
(1) (1), (1IT) and (IV) (2) (Im), (1) and (1V)
(3) (1), (11) and (IV) (4) (1), (1I) and (II1)
B &1 w2 3 TR Be § &9 & | 9 ®oMl R AR #ifviw:
(I) 2s SOIaET & AT F 2p ST ESHT MEH 2 |
(Il) Be & 2s gaiasiHl @1 a1 § B & 2p 3aas( MRS BR goigei+l gRI A0S | Sara] R 2 |
(1) 2p SCIFEHT B a1 H 2s gelde = $1 Y92 A (penetration power) SaTET 2 |
(IV) B &1 w=Av] a1, Be § ST & |
(ax=T] =1 B = 5, Be = 4)
TE BUF B -
(1) (1), (1) T2 (IV) (2) (In), (III) e (IV)
(3) (I), (IT) T (IV) (4) (I), (II) T (1)
Ans. (4)
Sol.  Theory Based.
Jgitas




10. Identify (A) in the following reaction sequence :

A) (i) CHsMgBr »(B) Os/Zn, H20 . NH
Gives Positive (i) H*, H0 CHs
lodoform test (8) Conc. H2SO4/ A C=0
CIJHS

o=t afdferan argma 3§ (A) B veEE B —

(i) CHsMgBr Oas/Zn, HzO NH
(A) - »(B)
(i) H* , H20 CHs
S |
CHs

ETOT ST R |
CHs CHs
CH CH
o” CHs o” CHs 0~ “CHs 0~ “CHs
Ans. (4)
Sol. O/E( (1) CHsMgBr
o (2) HsO*
CH=0 l
q
C
“CHs Zn HzO .;
HsC” “CHs

\ 7

11. According to the following diagram, A reduces BO2 when the temperature is :
-600¢
s -800¢
5 A + 02 AO2 /
= - [
5 1000 —
< -12009 B+ 02— BO2

200 400 600 800 1000 1200 1400 1600
—>T(C)
(2) > 1200°C but < 1400°C

(1) < 1200°C
(4) > 1400°C

(3) < 1400°C



Ans.

Sol.

12.

Ans.

Sol.

13.

Ans.

Sol.

14.

=1 fora & AR A, BO2 &1 3[99d &_al & oid 19 ©

-600¢

T

S _800¢

5 A + 02 > AO2 /

= - 9

= 1000 —

< 12009 B+ 02— BO»

200 400 600 800 1000 1200 1400 1600
—>T(°C)

(1) < 1200°C (2) > 1200°C 7= < 1400°C
(3) < 1400°C (4) > 1400°C
(4)
A +BO2——B + AO2
AG = -ve

Only above 1400°C
F9a 1400°C & HWR

The acidic, basic and amphoteric oxides, respectively, are :
el e qur Syaydl sifedrss HaI & —

(1) Na=20, SOs, Al203 (2) N2Og, Li20, Al203
(3) CI20, Ca0, P4O10 (4) MgO, CI20, Al203
(2)

Non-metal oxides are acidic in nature
alkali metal oxides are basic in nature
Al2Os3 is amphoteric.

efcass oifeargs aria ysfd & 2Id 2 |
&R 47 Jifeargs &R Jgfa & 8. 2 |

Al203 SHITHT 2 |

If the magnetic moment of a dioxygen species is 1.73 B.M., it may be :

(1) Oz or O3 (2) Oz20r O3 (8) Oz20r Oy (4) Oz, O3 or O3
TF SrEeifadioT W &1 g argel 1.73 BM. 2, I8 & 9a © ¢

(1) O3 =rerar O3 (2) O2 3r2rar O3 (8) O2 3r2rar O (4) Oz, O; 3r2rar O

(1)

02 = 6152 6*152 6252 6*25? 62p,2 n2px2 = m2py2 m*2px' = 1*2py’

O2 = 61s? 6*15? 6252 6*25? 62p,? 12p,? = 2Py 22 = T*2py!

02" = 6182 6* 182 6252 6*252 62p2 n2px? = n2py2 n*2px' = n*2py°

The Ksp for the following dissociation is 1.6 x 10-°

PbCla(s) === Pb%;) +2Clq)

Which of the following choices is correct for a mixture of 300 mL 0.134M Pb(NOs)2 and 100 mL 0.4 M
NaCl ?

(1) Q=Ksp (2) Q> Ksp

(3) Not enough data provided (4) Q< Ksp



Ans.

Sol.

15.

Ans.

Sol.

16.

Ans.

for=1 faare & o Kep @1 w19 1.6 x 10758,
PbCla(s) = Pb(aq +2Clq

0.134M Pb(N03)2$300 mLﬁQJT 0.4 M NaCl & 100 mL &1 femex =0 ™ fasor & fou o= 5 9 &9
a1 ey @& 8 ?

(1)Q=Ksp (2)Q> Ksp
(3) TaTw 3ifesT SueTa & (4) Q< Ksp
(2

Q = [Pb?][CI]?
_300x0.134 ><[100><o.4}2
400 400
3x0134

x(0.9)°
£ 0,108 x 10°
=1.005 x10-3

If enthalpy of atomisation for Brzq) is

x kd/mol and bond enthalpy for Brz is

y kd/mol the relation between them :

(1)isx=y (2)isx<y (8) does not exist (4)isx>y
af% Brogy @ oy ®oM gt (enthalpy of atomisation) x kJ/mol &1

Tl Bre & forg amawy wedt y kd/mol &1,

S 9= a=g —
(1) x =y &rm (2)x <y BFT (3) awar &l B | (4) x>y &rT
(4)
Bl'z([) AHatomisation = X kd/mole R ZBr(g) BI'2([) Avearedaswr = X kJ/mole - 28',(9)
AHvap. AHvap.
Bond =y kd/mol i -
Brag nd energy =y kd/mole Brag 94 Soit =y kd/mole

AHatomisation = AHvap + Bond energy
Hence x >y

AHq—\ququ'[ =Ava+aH Wﬁ
39 UBR X >y

[Pd(F)(CI)(Br)()]> has n number of geometrical isomers. Then, the spin-only magnetic moment and
crystal field stabilisation energy [CFSE] of [Fe(CN)e]™¢, respectively, are :

[Note : Ignore the pairing energy]

(1) 5.92 BM and 0 (2) 0 BM and -2.4 Ao

(8) 1.73 BM and -2.0 Ao (4) 2.84 BM and —1.6 Ao

[PA(F)(CI)(Br)()]> & Sa1facia w@adl &1 | n & | 7@ [Fe(CN)e]™® &1 Rua a1 g amgel den
e &= iRy ot [CFSE] waen: &

[[ie : g7 Soit @1 Bis AR ]

(1)5.92BM T2 0 (2) 0 BM qar —-2.4 Ao

(8) 1.73 BM T2m 2.0 Ao (4) 2.84 BM T21 —1.6 Ao

©)



Sol.

Sol.

17.

Ans.

Sol.

18.

Ans.

Sol.

19.

Ans.

Sol.
Sol.

Number of Geometrical Isomers in square planar [PdFCIBrI}?>- are = 3
Hence, n=3

[Fe(CN)e]*-

Fe® = 3d°, According to CFT configuration is £;>'e2’

g
U= Jn(n +2)
=1.73 B.M.
CFSE = —0.4A, x nt,, +0.6A, x n,,
= —04A0 X 5 = —2-0A0
T FAqea [PAFCIB2- 3 sanfafa waaadal @ wwr = 32 |
gafer, n=3
[Fe(CN)e]*-
Fed+ = 3d°, CFT & o/aR =<1 2'ed’

29 ~g
U= ./n(n +2)
=1.73 B.M.
CFSE =-0.4A, xnt,, +0.6A, x n,, =—0.4A0 x 5 = ~2.0A0

The de Broglie wavelength of an electron in the 4™ Bohr orbit is
el IR e A TP golacld P SI—alITel axiesd sl
(1) 4mao (2) 2mao (8) 6mao (4) 8mao
(4)
21r=nhk
n2

27 x —ao=NnA

Tx ao=n

2
27tx4Tao=47»

A =8 mao

The compound that cannot act both as oxidising and reducing agent is :

98 A% I IUFES AT JAYAIS Il B a8 BRI T8l B Ghal & —

(1) HNO2 (2) HsPOs4 (3) H2SOs (4) H202

(2)

As in HsPO4 Phosphorous is present it's maximum oxidation number state hence it cannot act as reducing
agent.

FfH HaPOs 3 BB $HS!I S=ad ATTHTHRT 3@zl 3§ IURed 8 | ST I8 JUard & A S T8l
PR Fhal 2 |

The increasing order of basicity for the following intermediates is (from weak to strong)

=1 wegaftal & fog aiaar &1 9ea1 H9 2 (GHd ¥ Haw) ¢

CHs

I 9 6 )
Hao_cl;e H2C=CH-CHz2 Hc=C 8H3 CN

CHs

(i) (i) (iif) (iv) (v)
(1) (i) < (iv) < (i) < (i) < (v) @) (i) < (i) < (i) < (iv) < (v)
(3) (v) < (iii) < (ii) < (iv) < (i) (4) (v) < (i) < (iv) < (ii) < (iii)
(3)

Basicity is inversely proportional to electronegativity.

&, fagesrorr & FoparguR el 2 |



20.

Ans.
Sol.

For following reactions

A 9% product

A 0K, product

catalyst
it was found that the Ea is decreased by 30 kJ/mol in the presence of catalyst. If the rate remains
unchanged, the activation energy for catalysed reaction is (Assumer pre exponential factor is same) :
(1) 105 kd/mol (2) 195 kd/mol (3) 135 kJ/mol (4) 75 kd/mol
=1 arfafshar & forg

A 70K Iqe

A 4>500K SIS
AP

Ig I T B fb SSRP B SURAMRY H Ea, 30 kd/mol I T E | Ife = muRafda = a1 SR sifdfhan
% fog dfhgor ot 8 (91 o gd =REdie! o 981 I8 )

(1) 105 kd/mol (2) 195 kJ/mol (3) 135 kJ/mol (4) 75 kd/mol

(4)

Kcat = K

_Eq _Ea,
Ae RT, _ Ae RT,
Ea, -30 _ Ea,

500 700
5Eaz = 7Ea2 - 210

Eac = & = 105 kd/mole

Eai = Eaz — 30

Activation energy of the catalysed reaction = 105 — 30 = 75 kd/mole

IAIRT fifhar @1 dfshaor %ol = 105 — 30 = 75 kd/mole

SECTION - 2 : (Maximum Marks : 20)

% This section contains FIVE (05) questions. The answer to each question is NUMERICAL VALUE with two
digit integer and decimal upto one digit.

% If the numerical value has more than two decimal places truncate/round-off the value upto TWO decimal

places.
» Full Marks : +4 If ONLY the correct option is chosen.
» Zero Marks : 0 In all other cases

TE 2 (IfrHH 3id: 20)

< T9 @S ¥ ufg (05) U 2| UAF U & SR G&aTHd A (NUMERICAL VALUE) 2, St fg—sia quifs
AT STHAT YhA—3(dH H B |

< I FEgrd w9 H 1 W IIfd ¥ I &, O IS "9 P SIHd B &l M b She/IASS
3% (truncate/round-off) & |

S 3P o
> Ul o7 +4 IfS Ry% WE fAed & g1 T B |
> I AP 0 I gl uRRefel 7 |




21.

Ans.
Sol.

22,

Ans.
Sol.

108 g of silver (molar mass 108 g mol™') is deposited at cathode from AgNQOs(aq) solution by a certain
quantity of electricity. The volume (in L) of oxygen gas produced at 273 K and 1 bar pressure from water
by the same quantity of electricity is
v ff¥ad fagd a1 gR1 AgNOs(STefin) 31 108 g Ricar (dIeR &&= 108 g mol™') el W farfia fasan

T g @ S oA gRT 273 K dUT 1 aR §@ WR AR T8 Sife{leE &1 smaad (L H) Brm

5.66 to 5.67

108
(g )deposft =1og | mole

Ag'+e ——Ag
1F charge is required to deposit 1 mole of Ag

Ag ® TH Hie fRerger & foTg 1 F 3maer &) 3ragaehdr Bl 2 |
HZO—>%OZ+2H*+26‘

2F charge deposit —)%mole
2F e fNefd s=an %—%mole

1F charge will deposit —>%mo/e

1F amaw fAafd oxar 2 —>%mo/e

nRT
V02 = T
lx 0.08314x273
4 1

Vo, = 5.674 L

How much amount of NaCl should be added to 600 g for water (p = 1.00 g/mL) to decrease the freezing
point of water to —0.2°C ? . (The freezing point depression constant of water = 2 K kg mol~")

600g 9 (p = 1.00 g/mL) ¥ NaCl @ fean a1 ferh SR & S¥9@ 9% gcax —0.2°C &1 9 ?
. (U & forg f3eie sramee ReRia = 2 K kg mol™)

1.74t01.76
ATi=0.2°C
AT = ikm
0.2 = 2x2x w xm
58.5 600
_0.2x58.5x600
~ 1000x4
_1.2x58.5
40

=1.769



23.

Ans.

Sol.

24,

Ans.

Sol.

Sol.

25.

Ans.

Sol.

The hardness of a water sample containing 10~ M MgSO. expressed as CaCOs equivalents (in ppm) is

(molar mass of MgSO4 is 120.37 g/mol)
10° M MgSOs @i 51 & Hfesl &1 HoRral forgsl CaCOs GAged (ppm #) fWarad &3 oM =, 8rft

(MgSOs @1 Aok |efd (molar mass) 120.37 g/mol)
100.00 to 100.00
10-2 molar MgSOs = 103 moles of MgSOa present in 1 L solutions.
103 AreR MgSOs =1 L faderz= # SuRerd MgSOs & 102 Ara
Ncaco, =Mmgso,
opm. _10°x100
(in term of CaCO;) = 1000
PPMin term of caco,) = 100 ppm

The mass percentage of nitrogen in histamine is

= 4 Aoy & geaae gfdwadr @
37.80 to 38.20

|4Nj/\/NH2
Structure of Histamine is NH l

Molecular formula of Histamine is CsHoN3
Molecular mass of Histamine is 111

Percentage nitrogen by mass in Histamine = :'—121x100= 37.84%

KNJ/\/NHZ
e & ax=m NH |

feweif| &1 anfdgs =1 CsHoNs
e @1 snfdas geaam 111

i ¥ s M | AEgeE &1 o = %me: 37.84%

The molarity of HNOs in a sample which has density 1.4 g/mL and mass percentage of 63% is
. (Molecular Weight of HNO3 = 63 )
S9 wfdasl 4, Rraer a9w@ 1.4 ¢/mL den gaH gfawradr 63% 31 &1, HNOs &Y aterdr e
(HNOs3 &1 3v[%R = 63 )
14.00 to 14.00
63% w/w — HNOs3 solution faer==
_ 63x1.4

= x 1000 mole/L = 14 mole/L
63x100






